# FIRST ADDENDUM TO AGREEMENT

#### WITNESSETH:

WHEREAS, by Resolution 19188, dated June 20, 2016, the Legislature did award a six-month contract with three twelve-month options to extend to First Call to provide software maintenance and support for the substance abuse treatment data tool, COMBAT ~ Connections, as a sole source purchase, at an annual cost to the County of \$39,000.00; and,

WHEREAS, the parties now desire to expand the scope of that Agreement at an additional cost to the County;

NOW, THEREFORE, in consideration of the foregoing and the terms and provisions herein contained, County and First Call respectively agree with each other as follows:

- Except as expressly provided herein, all provisions of the Agreement dated
   August 9, 2016, between First Call and County shall remain in full force and effect.
- 2. The Scope of Services shall be amended to update the software and expand the software's reporting features.



- 3. First Call shall be paid for these services at the rates specified in Exhibits A and B, at an additional cost not to exceed \$11,400.00, to be paid upon the completion of this additional work.
- 4. This First Addendum shall be effective January 1, 2017, and shall extend until December 31, 2017.
- 5. This First Addendum, together with the Agreement dated August 9, 2016, incorporates the entire understanding and agreement of the parties.

IN WITNESS WHEREOF, the parties hereto have signed and executed this Agreement on the date first above written.

JACKSON COUNTY, MISSOURI

FIRST CALL ALCOHOL/DRUG PREVENTION & RECOVERY, INC.

By

Frank White, Jr

County Executive

By Solvie Mue

Federal Tax ID: 44-064186

APPROVED AS TO FORM:

ATTEST:

W. Stephen Nixon County Counselor Mary Jo Spind

Clerk of the Legislature

### REVENUE CERTIFICATE

I hereby certify that there is a balance otherwise unencumbered to the credit of the appropriation to which this contract is chargeable, and a cash balance otherwise unencumbered in the treasury from which payment is to be made, each sufficient to meet the obligation of \$11,400.00 which is hereby authorized.

Chief Financial Officer

Account No. 008-4401-56662

PC 44012017012

## Res. 19514

Alex Cons. C. L. D. H. H.	Hourly		
New Server Setup Detailed Steps	Hours	Rate	Total
Install SQL on new database server and configure for COMBAT (May			
need County IT Team)	3	\$95	\$28
Setup file structure on new web server	5	\$95	\$47
Copy software files from old to new servers	3	\$95	\$28
Configure IIS basics on new web server including firewall setup (Will			7-0
require County IT Team as well)	3	\$95	\$28
Setup COMBAT Connections custom site in IIS new web server	4	\$95	\$380
Copy SQL backup from old to new database server	3	\$95	\$285
Create COMBAT Connections database on new server	5	\$95	\$475
Configure COMBAT Connections database including encryption on new		700	Ş47.
server	5	\$95	\$475
		793	34/3
Create end user roles on the new server based on the roles on the old			
server. This includes SQL Auth users and smtp users. Alter all config			
files for web, email and other services (May need County IT Team)	3	ćor	ćaor
Link the IP Address to a test domain name	2	\$95 \$95	\$285
		295	\$190
Bring up the new site under the test domain on the new server	اد	COF	40.00
Test New Servers and Cutover Steps	3	\$95	\$285
эмоген экерэ		\$95	\$0
Test all components of the system including file upload. Test the			
ransfer of the database again and all cutover technical steps.	20	40-	4
utover to New Servers and Prep for Cutover	20	\$95	\$1,900
Meet with County IT to plan go-live and validate backups		\$95	\$0
uild an implementation plan with the County IT team	1	\$95	\$95
ommunicate with end users with regard to downtime for data	1	\$95	\$95
nigration			
eed to migrate the COMBATCONNECTIONS domain name to the new	0	\$95	\$0
address	2		
eed to take a SQL backup and migrate it to the new server	1	\$95	\$95
nk the security certificate to the personal forms are	5	\$95	\$475
nk the security certificate to the new server (County IT Team eeded)			
	1	\$95	\$95
Total Cost	68		\$6,460



## Exhibit B



First Call Alcohol/Drug Prevention & Recovery 9091 State Line Road Kansas City, MO 64114 816-361-5900

Bill to: Jackson County COMBAT

Attn: Stacey Daniels-Young 415 East 12th Street

9th Floor

Kansas City, MO 64106

**United States** 

INVOICE # DATE Inv-1907

DUE DATE

05/18/2017 06/17/2017

TOTAL AMOUNT

\$4,940.00

TOTAL DUE

\$4,940.00

	TOTAL AMOUNT:	\$4,940.00
		= 40
Creation and testing of New COMBAT Monthly Detail Report - 7 hours		\$665.00
Custom changes to the initial and discharge assessments - 7 hours  Creation and testing of New COMBAT Monthly Summary Report - 38 hours  Creation and testing of New COMBAT Monthly Detail Report - 35 hours		\$665.00 \$3,610.00
DESCRIPTION MEMO		AMOUNT

First Call Alcohol/Drug Prevention & Recovery 9091 State Line Road Kansas City, MO 64114 United States

Revenue Source Id: D1095 Invoice #:Inv-1907

Bill to:

Jackson County COMBAT Attn: Stacey Daniels-Young

415 East 12th Street

9th Floor

Kansas City, MO 64106

**United States** 

Credit Card Number: Credit Card Type:

☐ Visa ☐ MC ☐ Amex ☐ Discover

Mo.

Expiration Date:

Card Holder's Name:

Signature:

Total Due:

\$4,940.00

Amount Enclosed:

First Call Alcohol/Drug Prevention &

Remit to: Recovery

9091 State Line Rd. Kansas City, MO 64114

United States